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NEW QUESTION 1
A Scrum Master is working with a Development Team that has members in different physical locations. The Development Team meets in a variety of meeting
rooms and has much to do logistically (for example, set up conference calls) before the Daily Scrum. What action should the Scrum Master take?

A. Allow the Development Team to self-manage and determine for itself what to do.
B. Set up the meeting and tell the Development Team that is how it will be done.
C. Ask the Development Team members to alternate who is responsible for meeting setup.
D. Inform management and ask them to solve it.

Answer: A

NEW QUESTION 2
Who owns the Sprint Backlog?

A. The Scrum Team.
B. The Product Owner.
C. The Scrum Master.
D. The Development Team.

Answer: D

NEW QUESTION 3
A Scrum Team is only allowed to meet with stakeholders during Sprint Review.

A. True
B. False

Answer: B

NEW QUESTION 4
Which of the following might the Scrum Team discuss during a Sprint Retrospective?

A. Methods of communication.
B. The way the Scrum Team does Sprint Planning.
C. Skills needed to improve the Development Team’s ability to deliver.
D. Its Definition of “Done”.
E. All of the above.

Answer: E

NEW QUESTION 5
Which three of the following are true about Scrum? (Choose the best three answers.)

A. Scrum implements self-management by replacing Project Managers with Scrum Masters.
B. Each component of Scrum serves a specific purpose and is essential to Scrum’s success and your usage of Scrum to develop complex products.
C. Scrum is a methodology where you can pick and choose which parts of Scrum you think will work for your environment.
D. Scrum is a framework for developing and sustaining complex products.
E. Scrum is based on empiricism and lean thinking.

Answer: BDE

NEW QUESTION 6
Sprint burndown charts are an efficient tracking tool, because they show:

A. An estimate of the total work remaining for the Sprint.
B. How much effort has gone into a Sprint.
C. How many hours have been worked by each Development Team member.
D. How many Product Backlog items remain.

Answer: A

NEW QUESTION 7
A Scrum Master is essentially the same thing as a traditional PM (Project Manager).

A. True
B. False

Answer: B

NEW QUESTION 8
Which of the following are true about the Product Owner role? (Choose two.)

A. The Product Owner is one person.
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B. The Product Owner is accountable for ordering the Product Backlog.
C. Multiple people can share the Product Owner role on a Scrum Team.
D. The Product Owner role can be played by a committee or a team of people.

Answer: AB

NEW QUESTION 9
During a Sprint Retrospective, for what is the Scrum Master responsible?

A. Prioritizing the resulting action items.
B. Participating as a Scrum team member and facilitating as requested or needed.
C. Acting as a scribe to capture the Development Team’s answers.
D. Summarizing and reporting the discussions to management.

Answer: B

NEW QUESTION 10
In order to achieve the benefits of Scrum, it is important to enact the value of commitment. What two actions demonstrate the commitment of Scrum Team
members? (Choose two.)

A. Always deliver the items in the Sprint forecast.
B. Help the other Scrum Team members.
C. Do your best
D. Send out a daily status report.
E. Work late.

Answer: BC

NEW QUESTION 10
When is a Sprint over?

A. When the Product Owner says it is done.
B. When all Product Backlog items meet their definition of “Done”.
C. When all the tasks are completed.
D. When the time-box expires.

Answer: D

NEW QUESTION 12
Every Development Team should have:

A. At least one representative from each major software engineering discipline (like QA, Dev, UX).
B. The competencies and skills needed to deliver a Done Increment in a Sprint.
C. One Lead Developer and no more than 8 other members.

Answer: B

NEW QUESTION 13
During the Sprint Retrospective a Scrum Team has identified several high priority process improvements. Which of the following statements is most accurate?
(Choose the best answer.)

A. The Scrum Team may add items to the Sprint Backlog for the next Sprint.
B. The Scrum Team should choose at least one high priority process improvement to place in the Product Backlog.
C. The Scrum Team should decline to add a process improvement to the Sprint Backlog when things are running smoothly.
D. The Scrum Master selects the most important process improvement and places it in the Sprint Backlog

Answer: A

NEW QUESTION 15
The Product Owner is not collaborating with the Development Team during the Sprint. What are two valuable actions for a Scrum Master to take? (Choose two.)

A. Inform the Product Owner’s functional manager.
B. Stop the Sprint, send the Product Owner to a course and restart.
C. Bring up the problem in the Sprint Retrospective.
D. Coach the Product Owner in the values of Scrum and incremental delivery.
E. Nominate a proxy Product Owner.

Answer: CD

NEW QUESTION 17
Which output from Sprint Planning provides the Development Team with a target and overarching direction for the Sprint?

A. The Sprint Backlog.
B. The Sprint Goal
C. The release plan.
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D. Sprint Review minutes.

Answer: B

NEW QUESTION 20
How should a Development Team deal with non-functional requirements?

A. Ensure every Increment meets them.
B. Make sure the release department understands these requirements, but it is not the Development Team’s responsibility.
C. Handle them during the Integration Sprint preceding the Release Sprint.
D. Assign them to the lead developers on the team.

Answer: A

NEW QUESTION 25
What techniques could the Scrum Master use when the Scrum Team gets caught in an internal disagreement about which agile practices to apply? (Choose the
best two answers.)

A. Involve the complete Scrum Team in making a decision.
B. Use coaching techniques; such as open QUESTION NO:s and active listening.
C. Ask an external agile coach what they recommend.
D. Ask team members to take the issue up with to the company’s Human Resources department.

Answer: AB

NEW QUESTION 28
Which statement best describes a Product Owner’s responsibility?

A. Optimizing the value of the work the Development Team does.
B. Managing the project and ensuring that the work meets the commitments to the stakeholders.
C. Directing the Development Team.
D. Keep stakeholders from distracting the Development Team.

Answer: A

NEW QUESTION 32
At the seventh Sprint Review, the stakeholders are disappointed and angry. They have determined that the product or system being built will not meet their needs
and will cost more than they are willing to spend. What
factors likely led to this? (Choose two.)

A. The Project Management Office (PMO) has not been engaged adequately.
B. The Product Owner has not been keeping the stakeholders aware of the progress of the project.
C. The stakeholders haven’t been using the Sprint Reviews to inspect and evaluate progress.
D. The stakeholders were not allowed to enter the development area.

Answer: AB

NEW QUESTION 37
At the end of a Sprint Product Backlog item worked on during the Sprint does not meet the definition of “Done”. What two things should happen with the undone
Product Backlog item? (Choose two.)

A. If the stakeholders agree, the Product Owner can accept it and release it to the users.
B. Put it on the Product Backlog for the Product Owner to decide what to do with it.
C. Review the item, add the “Done” part of the estimate to the velocity and create a Story for the remaining work.
D. Do not include the item in the Increment this Sprint.

Answer: BD

NEW QUESTION 40
What two factors are best considered when establishing the Sprint length? (Choose two.)

A. The organization has mandated similar length sprints.
B. The level of uncertainty over the technology to be used.
C. The frequency at which team formation can be changed.
D. The risk of being disconnected from the stakeholders.

Answer: BD

NEW QUESTION 45
Why should the Product Owner be present at the Daily Scrum?

A. He/She doesn’t need to be there.
B. To hear about impediments in functionality.
C. To represent the stakeholders’ point of view.
D. To participate as a Scrum Team member.
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Answer: A

NEW QUESTION 47
The IT manager asks a Development Team for a status report describing the progress throughout the Sprint. The Development Team asks the Scrum Master for
advice. The Scrum Master should:
(Choose the best answer.)

A. Talk to the IT manager and explain that progress in Scrum comes from inspecting an Increment at the Sprint Review.
B. Tell the Development Team to figure it out themselves.
C. Tell the Development Team to fit the report into the Sprint Backlog.
D. Create and deliver the report to the manager herself.
E. Ask the Product Owner to send the manager the report.

Answer: A

NEW QUESTION 49
Who can abnormally terminate a Sprint?

A. The Scrum Master
B. The Development Team or its members.
C. The Product Owner
D. The Stakeholders

Answer: C

NEW QUESTION 51
What activities would a Product Owner typically undertake in the phase between the end of the current Sprint and the start of the next Sprint?

A. There are no such activitie
B. The next Sprint starts immediately after the current Sprint.
C. Refine the Product Backlog.
D. Work with the Quality Assurance departments on the Increment of the current Sprint.
E. Update the project plan with stakeholders.

Answer: A

NEW QUESTION 56
Which of the following is an example of an Increment? (Choose the best answer.)

A. A plan for the overall product release.
B. A mock-up of the product marketing materials.
C. A design for the product.
D. A product roll-out plan.
E. A valuable, useful set of products featured.
F. All of the above.

Answer: F

NEW QUESTION 59
Select two ways in which technical debt impacts transparency. (Choose two.)

A. When calculated and estimated, the total amount of technical debt shows exactly how long until the Product Owner can release the Increment.
B. It leads to false assumptions about the current state of the system, specifically of an Increment being releasable at the end of a Sprint.
C. As development progresses and code is added, the system becomes more difficult to stabilize, which results in future work being slowed down in unpredictable
ways.
D. It enhances transparency for the Product Owner as a Development Team is not allowed to do additional feature development in a Sprint as long as there is
technical debt.

Answer: BC

NEW QUESTION 60
When can a Development Team cancel a Sprint?

A. It can’
B. Only Product Owners can cancel Sprints.
C. When functional expectations are not well understood.
D. When the Product Owner is absent too often.
E. When the selected Product Backlog items for the Sprint become unachievable.
F. When a technical dependency cannot be resolved.

Answer: A

NEW QUESTION 64
What is the time-box for the Sprint Review?
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A. As long as needed.
B. 2 hours for a monthly Sprint.
C. 4 hours for a monthly Sprint.
D. 4 hours and longer as needed.
E. 1 day

Answer: C

NEW QUESTION 68
When should a Sprint Goal be created?

A. It should have been created in the previous Sprint during Product Backlog refinement.
B. It must be established before Sprint Planning in order to begin planning.
C. A Sprint Goal is not mandatory in Scrum.
D. At any time during the Sprint.
E. During Sprint Planning.

Answer: E

NEW QUESTION 72
What is the role of management in Scrum?

A. To facilitate the Scrum Teams with insights and resources that help them improve.
B. To monitor the Development Team’s productivity.
C. To identify and remove people that aren’t working hard enough.
D. To continually monitor staffing levels of the Development Team.

Answer: A

NEW QUESTION 76
A Product Owner wants advice from the Scrum Master about estimating work in Scrum. Which of these is the guideline that a Scrum Master should give?

A. Product Backlog items must be estimated in story points.
B. Estimates are made by the Development Team.
C. Estimates must be in relative units.
D. Scrum forbids estimating.
E. Estimates are made by the Product Owner, but are best checked with the Development Team.

Answer: B

NEW QUESTION 77
The purpose of a Sprint is to produce a done Increment of product.

A. True
B. False

Answer: A

NEW QUESTION 81
Every Scrum team must have a Product Owner and Scrum Master.

A. Tru
B. Outcomes affected by their participation and availability.
C. Fals
D. A Product Owner can be replaced by a business analyst in the Development Team.
E. Fals
F. A Scrum Master is only required when asked for by the Development Team.
G. Tru
H. Each must be 100% dedicated to the Scrum Team.

Answer: A

NEW QUESTION 83
Which three of the following are time-boxed events in Scrum? (Choose three.)

A. Release Testing.
B. Release Retrospective.
C. Sprint Retrospective.
D. Sprint Planning.
E. Sprint Testing.
F. Sprint 0.
G. Daily Scrum.

Answer: CDG

NEW QUESTION 84
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You are the Scrum Master for four Scrum Teams working from the same Product Backlog. Several of the developers come to you complaining that work identified
for the upcoming two Sprints will require full-time commitment from a technical specialist who is external to the teams. What are two key concerns for the Scrum
Master to take into account in this situation? (Choose two.)

A. The desire to maintain a stable velocity.
B. The benefit of Development Teams figuring out a solution for themselves.
C. The need to have enough work to keep all Development Team members busy.
D. The ability of the Development Teams to produce integrated Increments.

Answer: BD

NEW QUESTION 89
Who starts the Daily Scrum?

A. The person coming in las
B. This encourages people to be on time and helps to stay within the time-box.
C. Whoever the Development Team decides should start.
D. The person who has the token.
E. The Scrum Maste
F. This ensures that the Development Team has the meeting and stays within the time-box.
G. The person who last broke the build.

Answer: B

NEW QUESTION 93
What is the best suited structure for Development Teams in order to produce integrated Increments?

A. Each Development Team works only one technical layer of the system (e.
B. GUI, database, middle tier, interfaces).
C. Each Development Team develops functionality from beginning to end throughout all technical layers.

Answer: B

NEW QUESTION 94
Which does a self-organizing Development Team choose?

A. Sprint length.
B. How to best accomplish its work.
C. Stakeholders for the Sprint Review.
D. When to release, based on its progress.
E. Product Backlog ordering.

Answer: D

NEW QUESTION 99
How do you know that a Development Team is cross-functional?

A. Development Team has all the skills to create a potentially releasable increment by the end of every Sprint.
B. A few of the Development Team members pair program and do Test Driven Development.
C. There are no conflicts within the Development Team.
D. Every member of the Development Team is able to perform every task.

Answer: A

NEW QUESTION 102
Multiple Scrum Teams working on the same product or system all select work from the same Product Backlog.

A. True
B. False

Answer: A

NEW QUESTION 105
You are the Scrum Master of a new, to be developed product. Development is going to require 45 people. What is a good first question for you to suggest the
group thinks about when forming into teams?

A. How will we make sure all teams have the right amount or expertise?
B. What is the right mixture of senior and junior people on each team?
C. Who are going to be the team leads?
D. Who are the subject matter experts on each team?

Answer: A

NEW QUESTION 110
Scrum is a methodology that tells in detail how to build software incrementally.
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A. True
B. False

Answer: B

NEW QUESTION 115
Who must attend the Daily Scrum?

A. The Scrum Master and Product Owner.
B. The Development Team.
C. The Development Team and Product Owner.
D. The Scrum Team.
E. The Development Team and Scrum Master.

Answer: B

NEW QUESTION 117
A Sprint Retrospective should be held:

A. At the end of each Sprint.
B. At the beginning of each Sprint.
C. Only when the Scrum Team determines it needs one.
D. At the end of the last Sprint in a project or a release.

Answer: A

NEW QUESTION 122
Which two things should the Development Team do during the first Sprint? (Choose two.)

A. Make up a plan for the rest of the project.
B. Analyze, describe, and document the requirements for the subsequent Sprints.
C. Develop at least one piece of functionality.
D. Define the major product features and release plan architecture
E. Create an increment of potentially releasable software.

Answer: CE

NEW QUESTION 123
What enhances the transparency of an increment?

A. Doing all work needed to meet the definition of “Done”
B. Reporting Sprint progress to the stakeholders daily
C. Keeping track of and estimating all undone work to be completed in a separate Sprint.
D. Updating Sprint tasks properly in the electronic tracking tool.

Answer: A

NEW QUESTION 127
A Development Team selects a set of Product Backlog items for a Sprint Backlog with the intent to get the selected items “Done” by the end of the Sprint. Which
three phrases best describe the purpose of a definition of “Done”? (Choose three.)

A. It controls whether the developers have performed their tasks.
B. It provides a template for elements that need to be included in the technical documentation.
C. It creates transparency over the work inspected at the Sprint Review.
D. It trucks the percent completeness of a Product Backlog item.
E. It guides the Development Team is creating a forecast at the Sprint Planning.
F. It defines what it takes for an Increment to be ready for release.

Answer: CDF

NEW QUESTION 131
How should Product Backlog items be chosen when multiple Scrum Teams work from the same Product Backlog?

A. The Scrum Team with the highest velocity pulls Product Backlog items first.
B. The Development Teams pull in work in agreement with the Product Owner.
C. The Product Owner should provide each team with its own Product Backlog.
D. Each Scrum Team takes an equal numbers of items.
E. The Product Owner decides.

Answer: B

NEW QUESTION 135
How is management external to the Scrum Team involved in the Daily Scrum?

A. The Scrum Master speaks on their behalf.
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B. The Development Team self-manages and is the only management required at the Daily Scrum.
C. Management gives an update at the start of each Daily Scrum.
D. The Product Owner represents their opinions.

Answer: B

NEW QUESTION 136
Who is on the Scrum Team? (Choose all that apply.)

A. Scrum Master
B. Product Owner
C. Development Team member
D. Project Manager
E. None of the above

Answer: ABC

NEW QUESTION 140
Several Sprints into a project, the Product Owner tells the Scrum Master that a key stakeholder just started using the product. The stakeholder is unhappy with the
quality of the product. What are two good options for the Scrum Master? (Choose the best two answers.)

A. Wait to bring this up until the Sprint Retrospective.
B. Encourage the Product Owner to put quality specifications on the Product Backlog and express the stakeholder’s concern to the Developers.
C. Bring the concern to the testers to improve how the Product is verified.
D. Explain to the Product Owner that it is up to the Developers to decide on acceptable quality standards.
E. Coach the Product Owner on how to talk with the Developers about this concern.

Answer: BC

NEW QUESTION 142
When multiple teams work together on the same product, each team should maintain a separate Product Backlog.

A. True
B. False

Answer: B

NEW QUESTION 144
Which are appropriate topics for discussion in a Sprint Retrospective? (Choose the best three answers.)

A. Arranging the Sprint Backlog for the next Sprint.
B. The value of work currently represented in the Product Backlog.
C. Team relations
D. Definition of Done.
E. How the Scrum Team does its work.

Answer: BCE

NEW QUESTION 145
Cross-functional teams are optimized to work on one technical layer of a system only (e.g. GUI, database, middle tier, interfaces).

A. True
B. False

Answer: B

NEW QUESTION 147
How much of the Sprint Backlog must be defined during the Sprint Planning event?

A. Just enough tasks for the Scrum Master to be confident in the Development Team’s understanding of the Sprint.
B. The entire Sprint Backlog must be identified and estimated by the end of the Sprint Planning meeting.
C. Enough so the Development Team can create its best forecast of what is can do, and to start the first several days of the Sprint.
D. Just enough to understand design and architectural implications.

Answer: C

NEW QUESTION 151
What are two good ways for a Scrum Team to ensure security concerns are satisfied? (Choose two.)

A. Postpone the work until a specialist can perform a security audit and create a list of security-related Product Backlog items.
B. Add security concerns to the definition of “Done”.
C. Add a Sprint to specifically resolve all security concerns.
D. Delegate the work to the concerned department.
E. Have the Scrum Team create Product Backlog items for each concern.
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Answer: BE

NEW QUESTION 152
......
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